Poynting vector has units of -~

)
E; watts per metre b)  wattspermetre®
Lnewton d) newton per ‘metre

2), Thenegative signinthe expression e =-N.d®/dtvolts, is explained by :
Lenz'slaw b)  Fleminglefthand e

©)  Flemingrighthandrule d)  Tellegen'stheorem

3) The electromagnetic torque developed in a cylindrical rotor synchronous motor is
proportionalto (d=the powerangle): -

a) b d © cosd d) sind

4)  A220KV/132 KV transformer has impedance on 132 KV side equal to 0.0729 per unit and
angle 78.13 degree. Itsimpedance on 220KV side s

) (20/132yx00729puangle78AF  b)  (132/220)'x0.0729puangle78.13"

) 0.0729puangle78.13" d)  (220/132)x0.0729puangle 78.13"

5) Bundle conductortransmissionlines : -

a)  protectthe phase conductors againstlightning

b)  enhance the string efficiency of discinsulator

<) enhance the capacity of stringinsulator

s 2 urfa

6) i islimitedby -

a)  stabity consideration b)  voltagedrop N
voltage regulation d)  thermallimit

7) i jons -

a) (0PJa6).A5=APand (6Q/V).AV=AQ  b)  (9P/oV,).A8=APand (6Q,aP,).A

)  (9PIa6)=AQand (3PIoV)=AP d)  (aPIob).AV=APand (6QJoV).A5 =

Ifthe fault curent is 4000 A, the relay seting 100% and C.T. ratois 40015, then the plug
setting multiplier willbe : -
10 b)

20 0 25 d 50
Theini atr i iginis -
20db/decade b)  -20db/decade
40db/decade d)  -40db/decade

The power factor of a delta connected 3 phase, 50 kW, induction motor is 0.4 when
delivering 35% of i Ifits i i the

ator

shaft,thenits :-

pfis improved, stator current decreases.
pfisimproved, stator currentincreases
pfis worsened, stator currentincreases

— &0
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isSmA.
same as the turn on curentbut

b) ig

©) e sigr

d) noneofthe above

12) A square wave type voltage of peak magnitude 100 V is measured by a moving iron
voltmeter. ltwillread :-

a) 200V b) 50V o 100V d) 400V

13) = I o confiion :

a)  Drysdalepotentiometer accoordinate potentiometer

c)  Crompton potentiometer d)  SimpleLarsen potentiometer

14) A 10-5% AD convertor is used to digitalise an analog signal in the 0 to 5 V range. The

the ADCis ;-

a) neary100mV b)  nearly50mV

) meady2SmV d)  neary5mv

15) has 4anda %digitdisplay. The2V 3

a) 1.000 b) 1411 o 19999 6 1999

16) a3
isto:-

a) b)

c) oltage d) i Itage

1) , the i i 8

3) cos @ ={cosa+cos(a+y)}/2 b)  cos ¢ =cos(a+y)/2

©) cos ¢ =cos{(a+y)/2) d)  cos ¢ ={cosa}/2

18) Athristorcanbetermedas -

a) DCswitth b) ACswich c) either(a)or(b) d) neither(a)or(b)

19) ATeslacoilisa:-

a)  cascaded transformer b).  corelesstransformer

©)  highfrequency resonant transformer d)  lowimpedance transformer

20) Agood differential amplifier has a: -

a)  highinputsignals b)  lowcommon mode rejection ratio

<) highcommon mode rejection ratio d)  lowinputsignals

21) Whichof i i b

) Hydroelectric power plant b)  Steampowerplant
Diesel power plant d)  Nuclearpowerplant

22) y ileris : -

a) Deadweighttype b)  Levertype

c)  Sprin : 4y Anyoftheabove

——
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31)

)
32)
a)
33)
L
34)

)

Cavitationis caused by : -

Fluid velocities b)
High pressure ) Lowfluidvelocities
Propeller turbine b)  Francisturbine
Peltonwheel d)  Kaplanturbine
Power i
Ottocycle /m/ Rankmecyue
Binaryvapour cycle Brayton cycle
use of high steam pressures b) increased quantity of coal bumnt
larger quantity of water used d)  lowerloadinthe plant
Refletors ofnuclarreactrs aremadoof -
Cast b)  Berylium o) Steel 4 Boron
ACANDU reactor uses : -
Highly enri i light water

itural Ur 4 nd lant.

ighly enriched L and coolant.
onlyferrite material.
Ammacurcunhehavesas -
ctance
An mducnva reactance

If the two generators have individual ratings of 10 MW each (let them be A and B, with A
igher

8NIW on eath generator b)  10MWonAandoMWonB
10MWonBand 6 MW onA 8 9MWonAand7MWonB

ig! 2 for:-
powerfrequency tests b)  impulsetests
both (a)and (b) above d)  noneofthe above
by R iverter used for 132 kV line should be : -
10cm b)  15cm ¢  50cm d)  85cm
Moles Bridgeis usedtomeasure : -
Properties of dielectricatdc b)  Dispersionininsulation
High frequency high voltages d)  Modulation ratio frequencies

i 3 B

500KV ac, 1 MVimpulse b)  800kVimpulse
300kVac, 500KV impuise d)  250kVA, 500kVimpuise

=
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42)

a)

©)

Anodizingis mainly usedfor: -
Lowcarbonsteel b)  Stainlesssteel
Ferrous material d)  Aluminium
Thermoplastic and thermoset polymers differin: -
Glass transition temperature. b)  Thermalbehaviour
Mechanical behaviour _4)"  Alloftheabove
Choosethe correct statement :
‘emfpertumin both the windings are equs
emfpevlumlnbolhmewlndlngsarenolequa!
e
between zeroslip and unity slip
between 0.5slipand 0.95slip
‘Thelevel compounded DC motors are generally : -
sally compounded b)  Cumulativecompounded
either differentially or cumulative compounded d)  Noneofthese
Ant1 , current
of 8. i .
19 b) 038 c) 38 d) 019 1M
.
1-2for
v
29 1y
O $o0
2
v b) 2V o oV d 3V
For i i function C(s).
S+1
(s+s+1) ) i
s !

Ps
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For the system shown in figure, if the input x (t) = sin t, in the steady state, the response y(t)
willbe ;-

1N2sin (1-45") b)  W2sin(t+45°)
sin(t-45") d)  sin(t+45°)

reduce line loss b)  reduce skineffect
balance line drop 47 reduce Ferrantieffect
R phase conductor b)  Yphase conductor

B phase conductor _dy earthconductor

The msvamaneous voltage and current across a 0ad is given by v = 100 sin (314 t-/6)

volts andi=10sin (314t-/2) amperes, the
loadis:

500watts b)  125watts

1000 watts d)  noneoftheabove

Which logic circuitis the fastest : -
TTL -

DTL

RTL

Allhave same speed

The 100110, s equivalentto: -

26, by 36, o 45, d 213,
ctifir the input

V(rms) single phase AC. If the ssoﬂndsry winding has 50.0.50  apping, then e peak
reverse voltage across the diodes will

100v2V by 100V ¢ 502V d) S50V
Ripple in output current of a step-down chopper feeding RLE load is maximum, when duty
cycelsequalto:-
b) 05 o o7 d 033

Anover ing 150°
CTrati 15, thenthe current inthe i pickupis -
300Amps b 450Amps ©)  150Amps d)  200Amps

. &
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For reliable speed operation of a sepam(ely excited DC motor drive in all the four

halfcontrolled convertor
fully controlled convertor
uncontrolled convertor
dual convertor

The plug setting of a negative sequence relay is 0.2A. The CT ratio s 5: 1. The minimum

1A b)  11.732A o  1732A  d) | 02/1732A

Inapower station, power i <
diversity factor alone increases.

both diversity factor and load factorincreases

foad factor alone increases

both diversity factor and load factor decreases

ifthe water
contentofoilis : -
greaterthan 2 ppm b)  lessthan2ppm
greaterthan 4 ppm d)  lessthan4ppm
The i is:
poorarc quenching b)  lowthermal stability
lowthermal conductity: d)  currentchopping
applied voltage b)  frequency
load current d)  mutualflux
Inanormal3phase sl
increase with the increase i the value of the rotor resistance
i i rotorresistance
resistance
Increases with increase in the value of rotor resistance upto a certain value and then
i i resistance.
controlled -
input by itati
y i i d) Y peed
in od in a balanced 3 ph

witha purely inductive load : -

both the wattmeters willindicate zero
/attmeter willindi

—
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PART-lI GENERAL KNOWLEDGE /. AND ENGLISH
61) -
a)  Lucknow b)  Kolkata ) Hyderabad d)  NewDelhi
62) 5
a) Pitcher b)  Deuce )  Vunerable d)  Gambit
63) Whichwas thefirstmetal used byman -
a) Copper b)  Siver o ' Bronze  d) Brass
., 64) 2 French Open Tennis C! 013:-
a) RafelNadal b)  DavidFerrer
©) RogerFederer .4 NovanDojavic
65) T isusuall
/aj  Lithiumion battery b)  Zincionbattery
) Magnesiumion battery d)  Copperionbattery
66) “Stapes”i £
a) Muscle b)  Tissue c) Bone d el
67) Onebarrel of oilis approximately equal to: -
a)  159liters™ a2tlters ¢  257lters  d)  131liters
68) Bearerchequeisachequethatispayableto:-
a)  Ape b)  Only
| oy Onytothe accountholder. d)  Noneoftheabove
69) Tipof SouthAmericais ;-
a) CapeVerde b) CapeYork .j CapeHom d)  CapeCod
70) Whereisthe headquarters of World Bank 2
a) Washington Geneva  d) Rome
71) Whatwould come nextin the following series : -
Ao Dise G doss Mo
a) N, b) " M, ¢ On # Noneoftheabove
72) Completetheseries 1,2,3,6, 11, 20,37,68,?
A 125 b) 124 o 126 d 105
L 7%
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73)
a)

74)
a)

5)
a)

76)

79)
e

80)
a)

81)
82)
a)

8

P

85)

86)
a)

B by

g

o

36 d 64

Ifina certain code YELLOW i e} written as XFKMNX, how is COUNTRY coded?
DQXPWSZ PTMSSX

s

Book Bookcase :: Clothes :
b)

?

Press

°)

>

BNTMSQX d)  DPVOSQX

Wardrobe  d)  Naphthalene Balls

17" of the month falls two days preceding Sunday, what day of the week willfollow the 27" of

themonth: -

Friday b) Satrday <  Thursday ) Monday

WORD, INK, TRAP, LAP B :

L b © o s 49 F

GivenSet: (6, 13,22)

(6.13,27) b (10,1628) oy (11,18,27) )  (13,19,22)

Choor :

Book b)  Pencil ©)  Pen d)~ Sharpener
i THLAL, then -

SQBHOHOH  _by” UQBHOHOF )  UQBJOHHO d) UQBJOHOH

(@81

by

Fleet b)  Band ¢) Herd 47 Crew

Whenhe came, hewasina__ _mood.

Playing  b) Playfuily %y Pyl d) Played

Makehay____ __thesunshines.

when B as ©) because d)  whie

over b)

Mohiniresembles__
with
to

hermother.

o to 4 on

b)  after
d)  noprepositionisneeded

Itwas raining awful on Samrdaymgm
e

appalling

horrible d)  terrible
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&) Hiwayofpresenatonis unigue.
a) exclusive b) & common d)  matchless
88) Thelaws aremadetobeenforced.
a) imposed b) compulsory ) obligatory ) noneoftheabove
89) My proposal was cast offin the meeting.
27 accepted b) discarded © rejected  d)  unwanted
90) Exclusive ® *
a) Laudable ) Desirable © Labiity . Inclusive
Q91-93): the four
againsteach of the following: -
91) BERSERK
a) Mad b)  Bestial o Placid d)  Berth
2) IMMENSE
a) Ty b)Y Huge ©) Imposing d) Important
93) TREMENDOUS
a) BY Much ¢ Homble d) Great
94)Find the wrongly speltword from the following : -
2 Repudiate b)  Felicitous ©)  Solicyitous d)  Digression
95) Marktho oddoneout:-
a) Permanent “-b)..___Infinite ©)  Perdurable gy~ Fragile
Q96-97):
96) Hewas praised by his father.
a) Hisfatherwas praised by him. b) Hisfatherwas praising him.
©) Hisfatherdid praisinghim. Sy Hisfather praised him.
'97) Theteachersaid, “l am busy now”.
a)  Theteachersaid A
©) Theteachersaid i . o) h
o) Fi e i
a) IhaveaEuropean guide. by Good parents guide their children.
) Whereisthetour guide. d)  Weareinaguides camp
i Q99-100 into Verb.
99) Entrance
Entry b)  Entertain sy Enter d)  Entrant
100) Isolation
a) lsolating  bj lIsolate ) lsolative d) Isolatingly




